
SAP ABAP table T030K {Tax Accounts Determination}

T030K

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KTOSL [CHAR (3)]

MWSKZ [CHAR (2)]

KONTS [CHAR (10)]

KONTH [CHAR (10)]

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 T030K-KONTH = SKA1-SAKNR 
0..N

{0,1}
 T030K-KONTS = SKA1-SAKNR 0..N

{0,1} T000

MANDT [CLNT (3)]

 T030K-MANDT = T000-MANDT 
0..N1

T004

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

 T030K-KTOPL = T004-KTOPL 

0..N

1

T007A

MANDT [CLNT (3)]

KALSM [CHAR (6)]

MWSKZ [CHAR (2)]

 T030K-MWSKZ = T007A-MWSKZ 

0..N

{0,1}


